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9,996
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1%

g KR ﬁﬁmég :
547 | mm | wm | mm | OO0 |ER-ER ke
ayvno nRE
i 0 LB EBEREYS - (=T
2| o 0
3 0 0
4| o 0 0
5] o 0 0 0
6] o 0 0 o 0
6
HEMS 2
IH
2 IH
kWh/
1 50
2 172
3 227
4 278
5 341




P10

PO 8

[W] = al* + a2 *
+ a3 * + a4 * +a5 /



al a2 a3 a4 a5
279.60 98.89 65.90 -l -281.80
27452 127.23 85.38 -| -409.88
288.55 83.37 44.00 -l -372.96
379.24| 117.36 58.70 -| -449.60
239.35 54.28 - - -77.02
219.33 90.56 56.11 -l -297.53
219.79 98.80 80.35 -l -334.75
233.77 93.01 52.70 -l -339.67
179.04 79.09 51.13| -356.79| -270.50
150.85 - - - -14.89
o,
5
1.23
0.423
1.00
[WJI] = b1* + b2 *
+ b5
1,
1 4 10




bl b2 b3 b4 b5

-104.31 75.14 1.05 37.03 145.93
- 111.27 2.19 31.76 -68.63
- 106.81 2.03 33.29 -5.27

-159.28 135.89 - 39.45 256.01
- 114.91 1.48 31.92 -9.96
- 104.44 1.86 34.99 -23.01
- 99.90 1.75 40.01 -57.04

-172.24 141.30 1.36 19.50 358.47

-161.25 129.36 - 33.64 372.83

-152.98 189.90 4.02 30.66 261.22

CO,
3
6 / (6
+ 6 )
6 6
= * 0
6 6
P9 2 4
HEMS 4
2013 6 2014 5
4 2019 3 Co,
27 P139

2018



2018 2019
4 5 6 9 10 11 12 1 2
10.2% 9.1% 8.6% 7.8% 6.8% 6.4% 6.5% 7.6% 8.5% 9.8% 9.6% 9.1%
10.5% 9.3% 7.7% 6.3% 4.9% 4.9% 5.9% 7.7% 9.3%| 11.4%| 11.5%| 10.6%
10.4% 8.8% 6.6% 5.4% 3.9% 4.2% 6.0% 7.8% 9.8%| 13.4%| 12.1%| 11.4%
11.1% 9.2% 7.5% 5.5% 4.1% 4.5% 5.9% 7.8% 9.4%| 11.9%| 12.0%| 11.0%
10.3% 8.9% 6.8% 5.6% 4.1% 4.2% 5.8% 7.7% 9.9%| 13.1%| 12.2%| 11.3%
10.4% 9.3% 6.6% 5.2% 3.6% 3.7% 5.2% 7.8% 9.9%| 13.9%| 12.2%| 12.1%
11.1% 9.2% 7.3% 5.6% 3.7% 3.9% 5.5% 7.8% 9.9%| 12.4%| 12.4%| 11.3%
10.6% 8.5% 7.0% 5.5% 4.2% 4.3% 5.6% 8.1%| 10.0%| 12.5%| 12.4%| 11.3%
10.9% 8.7% 6.7% 5.5% 4.0% 4.0% 5.6% 8.0% 9.9%| 12.6%| 13.0%| 11.2%
11.1% 9.3% 6.8% 5.9% 5.7% 5.4% 5.4% 7.7% 8.5%| 11.1%| 12.5%| 10.6%
€O,
.
2018 2019
4 5 6 7 8 9 10 11 12 1 2 3
9.5% 6.9% 4.3% 3.4% 2.8% 3.8% 5.5% 9.1% 13.4% 14.9% 14.0% 12.4%
24 14
24 14 24 30% 14
20%
14 24
5
5
* 1.05
*1.10
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EAMA®
FAEHEEt -
=Rpilis] ﬁ%
47 BEE b i
a2
i @) SEFEFMAaOIZTS
), @] LEFRBHITTS
3 @) 2EFBEREICTS
4 O O
5 O @)
6 @) O
7 @) O O
1 IQR><1.5 3 IQR><1.5
1
M)/ ] = 1278 + 29.3 *
[MI/ ] = 1413 + 424 * [ 1]
L 71 = =<5
+ x<2

/

1QR



12%
10%
8%
6%
4%
2%
0%

€0, 1

0,
9.6% 10.4% g 79y,

8.6% 0 8.39, 8:8% 8.9%
9% 7.2% 6.5% 6.7% 7.3%
: 5% ©./%

M/ 1

[W]
1 20.3 7
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12

m o; (i: m)
) m=
m
12
q;
10 12
10 i (®
9 (@ @

053 a2 as o0} as Qs ar
1.607 1.398 1.281 1.191 1.116|- -
2.001 1.741 1.490 1.312 1.159|- -
2.407 2.031 1.642 1.415 1.230 1.089|-
2.318 1.933 1.655 1.401 1.185 1.046|-
2.406 2.004 1.625 1.422 1.245 1.089|-
2.657 2.237 1.786 1.517 1.299 1.093|-
2.638 2.103 1.680 1.417 1.211 1.074)-
2.304 1.942 1.641 1.406 1.216 1.072|-
2.527 2.063 1.711 1.478 1.265 1.080]-
2.033 1.710 1.531 1.404 1.255 1.116 1.020

O ¢
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10
A& HERT {5 FA A
247 BEE w5 ms
1 @) EEFXH/BHITTH
2 @) L2EFEREICTS
3 @) D)
B
4 3
15
11
10 11
10 11
10 11
10
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% 11
10
B
11 B

5 11 1.89 2.14 2.33 2.25 2.32 2.42 2.33 2.32 2.35 2.16
5 10 2.21 2.56 2.85 2.73 2.82 2.97 2.85 2.85 2.90 2.60
6 11 2.29 2.67 2.94 2.83 2.93 3.11 2.96 2.88 2.96 2.71
5 9 2.58 3.02 3.45 3.24 3.38 3.52 3.37 3.40 3.45 3.02
6 10 2.77 3.36 3.82 3.64 3.78 4.11 3.85 3.76 3.88 3.42
7 11 2.85 3.36 3.65 3.59 3.65 3.93 3.77 3.61 3.70 3.32
5 8 3.10 3.54 4.03 3.80 3.93 4.06 3.88 3.97 4.01 3.61
6 9 3.38 4.20 4.96 4.62 4.84 5.23 4.88 4.77 4.95 4.19
7 10 3.64 4.54 511 5.00 5.08 5.65 5.34 5.10 5.25 4.46
8 11 3.67 4.27 4.54 4.48 4.59 4.92 4.79 4.52 4.64 4.13
5 7 3.92 4.27 4.80 4.51 4.69 4.75 4.54 4.76 4.78 4.55
6 8 4.31 5.27 6.27 5.83 6.06 6.50 6.02 5.98 6.17 5.42
7 9 4.76 6.22 7.38 7.06 7.21 8.02 7.55 7.7 7.41 5.87
8 10 5.09 6.38 7.05 6.90 7.11 7.97 7.64 7.10 7.37 6.06
9 11 4.89 5.40 5.53 5.50 5.66 5.98 5.82 5.57 5.70 541

15 30

10MJ

7(6)
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20% 30%

12 2 4

10% 20% 30% 40% 50%
10% 72% 85% 90% 91% 89%
20% 83% 91% 92% 89% 85%
30% 88% 91% 88% 83% 7%
40% 89% 88% 83% 76% 68%
50% 88% 84% 75% 67% 57%

1 5%
2012 2016 839

5% .,
1% 0% 0% 0% 0% 0% 0%

|21I23456789101112

4 20% 30%
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Zhs Ehs,CL

Epnsur = z Ens 0t myr

myr

1

1

Ehs,HT = z {max(Ehs,T,mHT - Ehs,base X ayr, 0)}

myr

Enscr = Z EnscLme,

mcL

Ehs,CL = Z{max(Ehs,T,mCL - Ehs,base X ey, O)}

mcL
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a, 2.4 2.4

18




a

30

19



f I
I
]
O
-/
I
]
]
]
]
T
]
% S = X
N o) < o
—

(%)

I N M < O © ~ 0 O

)

8

Ks < 3

9

20



